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1.

The OMR Answer Sheet ks inside this Test Booklet. When you are
directed, open the top seal of Test Booklet, take out the Answer Sheet
and fill in the particulars carefully with black ball point pen only

The test is of 90 minutes duration and consists of 100 objective type
guestions. Each question carries 1 mark for correct answer. Negative

Marking: For every wro swer a
question will be deducted,
Use Black Ball Point Pen only for writing particulars on this page and

marking respanses In the Answer Sheet,

Make sure that the Test Bookiet No. and Series marked by you on the
Answer Sheet is the same as that on this Booklet.

Rough work should be done only in the space provided in the Test
Booklet.

The answers are to be recorded on the OMR Answer Sheet only, Mark
your responses carefully. Mo whitener/ eraser / Blade is allowed for
changing answers.

After opening tha Test Booklet, please immediately ensure that no page
or question is misprinted, torn or left blank. If any discrepancy is found
in test bookdet, show it 10 Invigilator and get it replaced with test
booklet of same series.

Far any question If there is any discrepancy in Hindl or English language
of that particular guestion the English version of that question will be
considered as final,
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21. Which of the following strings of letters | 21. Fr=feiea # 4 fw ser sjaen &t
can be prefixed to the strings (IGHT), #@el (IGHT), (AME), (EW) 3R (AT)
(AME), (EW) and (AT) to make # Ugel T U G e g, S
common words that can be found in el 3ot e aleT | 9T o W &7
an English dictionary?

A. (BR) B. (SH) A. (BR) B. (SH)
C. (PL) D. (FL) C. (PL) D. (FL)

22, Inalanguage, 'mohu rupt nyrk’ means 22. U@ 97 4, ‘mohu rupt nyrk’ @1 e
'intelligent and hardworking', 'mohu triv ‘ g 3ik gRseit, ‘mohu triv jech’
jech' means 'tests and examinations', &1 el ‘udEvr 3fiv whEy, jech lyge’
'fech lyge' means 'examination &1 el ThEr uer aiR 'st{lj rupt’ @
questions' and 'stoj rupt' means 3yef 3%"“:' SEY & | a1 fhE @iE B
‘intelligent answers'. What will be the I| aef we 2w 9EY B
expression that means 'questions and :

A answers'? o
A. mohu lyge stoj ‘ A. mohulyge stoj
B. nyrk rupt mohu B. nyrk rupt mohu
C. nyrk mohu triv C. nyrk mohu triv
D. stoj nyrk rupt D. stoj nyrk rupt

23. Select the correct mirror image of the ‘ 23. &2 v ware= & wel g ufofda 35”

given combination, I _
METALS WIETALS
A BIATEN b MEVALZ | A GUATEMN s MEVASR
. BIATEN D BLATEIN c. BJATEN o. SLATIN

24. Suman leaves her hﬂmﬁ. turns l'EfL 24. W BITSF‘T Y q:,'f ﬁaﬁ"ﬂ, gnﬁ 3@. I
walks 300m towards the north and # 3l 300m T iR FErE T S
rFal:hEs the Mlahalma G:'.mdh.i junction. q_.éa TE | 7 @, a8 o R qH IR
From there, she turns right and walks
500m to reach a hospital to visit an T dWR A ¥ e @ forg s00m
ailing friend. After that, she turns right FABY TGS UEA! | SHP A<, T8 A
to go to a supermarket. After shopping SN Ud GueAde A 73 | ueHac 9
from the supermarket, she walks EEN] Y TG, a8 WY T 30
straight to her house. In which direction RS | were i) Seem § srdrer
does the road from the Mahatma a5 9 TeE e R ¥ o 27
Gandhi junction to the hospital run? :

A. Eastto West  B.North to South ‘ A. @ 3 R B. W W
C. South to North D.West to East C. gurdsR D. WRemA @
10710804705 5 PA/AG
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25. Three of the following four optionsare | 25. 39 aR faweul # & & W vdR 4
alike in a certain way and one is different. FAF # SR U ST & | S B
Pick the odd one out. fafed & |
AEEO B RO AMO® B EO

3 O, ‘ O A
C mEe P EG C EEe P&

26. Select the option in which the terms ‘ 2. agﬁaﬁqﬂﬁmﬂqgﬁzﬁﬁa a8 T B
share the same relationship as that i f&d v 9t g & 919 B
shared by the given pair of terms. T 4
Square : 4 ‘

A. Decagon :5 B. Pentagon:9 A. TS : 5 I
C. Hexagon :7 D. Octagon : 8 ‘ C. weydl : 7 D. 31w : 8

27. Select the option in which the words 27. 9% fawen g forad o= & @9 o
share the same relationship as that | way & o RA 7y e g @ A9 B
shared by the given pair of words. HrTor: fbdamE
Paper : Book
A. Phone:Talk B. Wheel : Car A. B : gl B.ufgqr : o®
C. Metal:Coin  D. Loan: Interest C. wrg : o D. 35 &

|

28. Select the number that can replace the 28. 9% W g o frefoRea A # g
question mark (?) in the following series. fae (?) @1 I o e & |
512,768, 1152, 1728, 7 | 512,768, 1152, 1728, 7
A. 2888 B. 2172 A. 2888 B. 2172
C. 2482 D. 2592 C. 2482 D. 2592

29, Select the number that can replace the ‘ 20 g & @e{f St faaferfRag ot & e
question mark (?) in the following g (?) &1 = of 9ol 2|
series. STY,:255,%,63.31.05,7
511,258, %63.31, 15,7 ‘

A. 124 B. 127 A. 124 B. 127
C. 175 D. 125 ‘ C. 175 D. 125
PA/AG 6 10710804706
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30. Three of the following four options are
alike in a certain way and one is different.

Pick the odd one out.

!
I A [«2]@ B. (™
l g @ p

[=]G9 [«]@

31. Which of the options would be the sixth
figure in the following series?

cile H||lL m|la R||lV wW
a F L P u
plle 1llo wllT slly x
1 2 3 4 3
A B B A
A. z B z
D c c B
c A B Dnl:
Z z
lp B YLK B

32. Select the fraction that can replace the
question mark (?) in the following

s =
W rdnie 8 4,
9'27'81'243° 129"
2 |
A 1539 B. 7187
4 2
C. 1539 D. 2187

33. Which of the following words can be
formed using all of the letters
EEELLPSSS, but none other?

A. STEEPLESS B. SPELLSETS

30. = ON Ao # 9 99 &0 verR 9|
THE € 3R US IEd B ST @

fafed @ |
() ()

A . GI®

c. © p.
(]G [=]®

31, & sREET H U WM W T fAhed

e ?

A A:B B Bz#

o D. |%3®

32. @& M= g o FPefafaa S & oo
fore (7) @1 I of AT ]|

‘ 643216 8 4

9°'27°81'243" 129"

A. 1539 B. 2187
4 2
C. Ts39 D.  21%7

‘ 33. T 9 P9 W 9= Pad EEELLPSS
JETRT BT WANT TN 9147 O pal & 2

A. STEEPLESS B. SPELLSETS

C. SLEEPLESS D. EPISTLES C. SLEEPLESS D. EPISTLES
34, Three of the following four letter- 34. 31 IR SR — el 4 9 o B
clusters are alike in a certain way and \ UPR o G99 & 3R UPH IJ9TT 2|
one is different. Pick the odd one out. g &1 fafga a9
A. CHSX B. IKPR A. CHSX B. IKPR
C. DIQW D. AFWZ C. DIQW D. AFWZ
10710804707 7 PA/AG
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35. Select the letter-cluster that can replace ‘ 35. 48 JeR—ue g+ ol i swen
the question mark (?) in the following H us — fRre?) &1 e o wadl g |
series. LIB, N1Y, PHV, RGS, TFP ?

LIB, NIY, PHV, RGS, TFP, ?
A. VEM B. VEN A. VEM B. VEN
C. WEM D. VFM C. WEM D. VEM

36. If DAMSEL is coded as AEDLMS. ‘ 36. ufd DAMSEL @1 AEDLMS & %4 #

how will VALOUR be coded as? dcas fdar mar 8. @ VALOUR &
foe W wedg fhar smo?

A. AUVROL B. AOULRV A. AUVROL B. AOULRV

C. AVUROL D. AROUVL C. AVUROL D. AROUVL

37. Select the option in which the numbers | 37. @& fawew o+ foras St I uar
are related in the same way as are the IIH H Hala & o & T g R
numbers in the given sets. H HE HeRd € |
(6, 15,30) and (12, 14, 84) (6, 15, 30) 31 (12, 14, 84)

A. (12,16,32) B. (16.12,36) A. (12,16,32) B. (16,12,36)
C. (12.16,48) D. (16,12,72) C. (12,16,48) D. (16,12.72)

38. Select the option in which the numbers | 38. a8 fasey g+ forad W= 399 vaR
are related in the same way as are the Iy # &g € O Ry wogm F
numbers in the given pair. ATy Hefed F |
(7,343) (7,343)

A. (5,125) B. (4,16) A. (5,125) B. (4,16)
C. (3,81) D. (25,125) C. (3,81) D. (25,125)

39. If oats are called carrots, carrots are | 39. Ufe SIg I MOR FHET Wl 8, Mo DI
called blimps, blimps are called flowers, fecrray et wiren 8, e &t oot @e
flowers are called stones, stones are ST 8, el Pl IR HET ST % T
called balloons and balloons are called @ TERT Pel W6l § AR TER @
toys, then what do buds bloom into? Recitr war S 8, o sfordt Raaaw

T FAr &2
A. Flowers B. Balloons A. Tt B.
C. Stones D. Toys ! C. UeR D. gﬂﬂ:ﬂ

40. Select the option in which the letter-  40. 8 fd@wey g fore ser—wrE S8 yaR
cluster is related in the same way as is Y | HEET & O mwm—ﬂ‘iﬁ
the letter-cluster in the given set. Hafd g |
INQS INQS
A. FIMP B. PTWY A. FIMP B. PTWY
C. NQTV D. DHKN C. NQTV D. DHKN

PA/AG 8 10710804708
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41. In which year was the Supreme Court 41, = 3few Al A 5y ad § s
set up by the East India Company in ¥ [aled <arred @1 @A @ o ?
Calcutta?

A. 1757 B. 1765 A. 17579 B. 17654
C. 1773 D. 1792 C. 1773% D. 17927%

42. In2019, who took the oath as the Chief | 42. 2019 #, f&= sRawn & q@r= &
Minister of Haryana for the second U A A 9 9O ol 7
time?

A. Bhupinder Singh Hooda A. Yiuex f¥e ggr A
B. AnilVij B. s fawr 4

C. Manohar Lal Khattar C. HIex ol @Y =
D. Dushyant Chautala D. g=a dieren A

43. Who was awarded the Nobel Prize in 43, 2019 # \ifgcy &1 Fidel QSR 75

| Literature in 20197 ¥ f5a e foear wan ?
| A. Abiy Ahmed A. 3l IEHE B
B. Peter Handke B. UYieY €8& &I
C. Olga Tokarczuk C. 3T SPRGb]d B
D. Bob Dylan D. dig fee @

44. The Indian cricket team played its first | 44. 22 § 26 Fda¥ 2019 Th ARG e
ever day-night test match against €M ¥ YT Had UEel fRF—a 2w
from 22* to 26® November 2019. L o A5 Qe
A. SriLanka B. England A. Siddr B. E¥wcis
C. SouthAfrica D. Bangladesh C. & sl D, qiamRy

45. Who won the US Open Men's Singles 45. 2010 ¥ .0 3ng+ qoY Ul Rgama
title in 20197 feer frer?

A. Rafael Nadal A, %A A8 A
B. Daniil Medvedev B. sFe #geg A
C. Andy Murray C. TSI A+

D. Nick Kyrgios D. o fofagrg 3

46. Who was the Chairman of Indian Space 46. HRI (ISRO) ERT wgar 2 e wmg
Research Organization (ISRO) when fare S @& w9 AR siafer sFEET
ISRO launched Chandrayaan 2 e (ISRO) & a3rezer P o ?
mission?

A. Dr. K. Sivan A BT RaEa
B. A.S. Kiran Kumar B. T UH. fiww &R
C. Shailesh Nayak C. I 9 aF
D. K.Radhakrishnan D. &. VHHE
~ 10710804709 PA/AG
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47.

48.

49,

50.

How many fundamental duties were
included in the Indian Constitution
through the 42™ Constitutional
Amendment?
A 11

C. 10 D.

B. 9
12

Under which writ does the court order
a lower court or another authority to
transfer a matter pending before it, to
the higher authority or court?

A. Mandamus
C. Certiorari

B. Quo Warranto
D. Prohibition

The famous historical monument
'‘Buland Darwaza', built by Akbar, is
situated in the district of
Uttar Pradesh.

A. Meerut

B. Kanpur
C. Agra
D. Allahabad (Prayagraj)

Which Sikh Guru's birth anniversary is
celebrated as the festival 'Gurupurab™?

47.

48.

49,

50.

42 & Wfur e F AnaE ¥ 9RO
wigur ¥ foan @i wde afafem
fa my 9 ?

A, 11 B: 9
C. 10 D. 12

fou ot & sola =y, sEx
e ar B s s & e
difad &t 9wt & Seay witer a1
AT # WEGNG &9 BT ey
odr &7

A. TRATCY B. 3R&R g
C. oy D. fme

aTehax g1 &=1arar T uftig ufaelie
— foe ¥ Rem 2

A. 778

B. R

C. 3r T

D. EciEEE ((FarRIS)

e R 7% &1 Sl IRE WER
& B9 H HAS e B 7

A. Guru Gobind Singh A. TS T f&E

B. Guru Tegh Bahadur B. % T FEIGY

C. GuruArjan Dev C. T% arse 24

D. Guru Nanak Dev D. % 9% 2q
51. Which of the following folk dance 51. T ¥ P T e BRI |

forms is NOT associated with the state Hafdd 981 & 7

of Haryana?

A. Dhamal B. Khoria A. SHETA B. wif¥ar

C. Jhumar D. Jawara C. W D. EmnT
PA/AG 10 10710804710
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52. Which of the following banks is NOT 52, 9WRd | 399 9 9 9 45 gD
a public sector bank in India? &3 &1 §% T8 & 7
A. Allahabad Bank A. FTEETE 46
B. Punjab National Bank B. U A 96
C. UCO Bank C. TPl §h
D. Federal Bank Litd. D. %ed d@ far,

53. Which scheme was launched by the 53. 2015 ® WFEAT §RT IR — ®ORe, I
Prime Minister in 2015 for providing Y AY /A ITH B 10 TG TS B
loans up to 10 lakh to non-corporate, FU S HA @ [ g8 |9 B9 Al
non-farm small/micro enterprises? e e @ s o ?

A. Pradhan Mantri MUDRA Yojana A. WEFEA HaT A
B. Make in India B. #& g sfea

C. Ujjwal Bharat Yojana C. 3599 4Rd It
D. Atal Pension Yojana D. s I A1

54. Which of the following Commissions 54. =8 ¥ fog amamr 9 st & fow
is mandated to recommend the ATH T o SRR e )
minimum support price for farmers? T & ?

A. Commission for Welfare of A. f&am e
Farmers

B. Commission for Agricultural Costs B. P AW U4 P SN
and Prices

C. Commission for Agriculture C. iy gfy amamr
Growth

D. Commission for Agricultural D. &Y e vd gfE amam
Development and Growth

55. Prime Minister NarendraModi launched = 55. WeI==l 7¥g #I&l 4 —————— 2019 §

the Fit India Movement in the month of fbe sfear qodc @ goana &1 41|
2019.
A. July B. September A. 9eTE B. fRdar
C. October D. August C. 3agaR D. 3T
|
10710804711 1 PA/AG



10710804712

56. Who among the following developed 56. il &1 Rigia (@A sife Refefad)
the Theory of Relativity? 1 9 fas g wfay oiftd fvar mar e ?
A. Madame Curie A. 79 =R EM
B. Albert Einstein B. 3cdC AR &1
C. Alfred Nobel C. s Add BF
D. Charles Darwin D. =ed Sifds grT
57. In October 2019, the Ministry of 57. udiERvl, 99 U9 Wiaarg uRkads Haray
Environment, Forest and Climate (MoEFCC) ¥ 3/agay 2019 ¥ wRa ¥
Change (MoEFCC) launched the first g4 ¥ b gom 3R Feavma worfa &t
national protocol to enumerate the =T B MUET BIA B UBA TS
population of which of the following WIeIdhiet %4 fhar o ?
elusive and endangered species in India?
A. Snow leopard A. fen digan
B. Indian rhinoceros B. HReig WS
C. Gujarat lion C. TN $T 5%
D. Bengal tiger D. & ST
58. In which year was the River Ganga = 58, fbg ad & 77 11 &) wsfiy =) enfie
declared a national river? faparr arar o ?
A 2004 B. 2008 A. 20044 B. 2008 %
C. 2014 D. 2016 C. 20144 D. 20164
59. Which of the following states are 59. S99 9 DI | I UTTHTE &Y 39
connected by the Palghat Gap? S EUE ?
A. Maharashtra and Goa A, HENISE 3R e
B. Kerala and Tamil Nadu B. #¥el 3R dfficrrg
C. Tamil Nadu and Andhra Pradesh C. dferrg il 3y yew
D. Karnataka and Kerala D. &Hled 3R F=d
60. Which of the following Harappan cities 60. ESUTHTA & 595 | B A1 TN, &9
was divided into three parts? qrni H o ar ?
A. Lothal B. Mohenjodaro (A) A=A (B) HIEAT ETST
C. Kalibanga D. Dholavira (C) FTeArEa™T (D) STATENT
PA/AG 10710804712
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61. Which one of the following devices is 6l. ®R THElel H HYeY B Ao
used for connecting computers in a star e & fore Frefaras 9 fve Suawr
topology? &1 wanT far s 22
A. Hub B. Repeater A. BF @I B. Rdex &1
C. Bridge D. Router C. faat &7 D. ¥SeX @

62. In which topology are all the network | 62. Fr=feiRaT # % e el # wil
nodes individually connected to a HeTrer Wit (Fede Arew) AfdTTT §U
central switch, hub or computer that ¥ U duid Rad, 869 a1 LR W Sl
acts as a central point of Bl & Sl Heull o) 9IRd &% & fory
communication to pass on the HER & U Hulg fdg % w9 H oY
messages? &l & 7
A. Star Topology A. ¥R Sl
B. Ring Topology B. R emderon
C. Bus Topology C. 9 cdrefof
D. Hybrid Topology D. EEfds el

63. Aliyahas 2600 MB of data. Dineshhas | 63. 3ferar & U 2600 MB et & s
4000 MB of data. The combined data % U 4000 MB $eT &| 391 QM Bl
would fiton a USB flashdriveof ST HYH WY ¥ WERY &l
storage capacity. arel U USB Tolel 915d H STell ST e 2 |
A. 1GB B. 2GB A. 1GB B. 2GB
C. 6GB D. 10GB C. 6GB D. 10GB

64. Which of the following binary = 64. il & & f feemma wfen
operations would give 111010 as the (?-ﬂ?ﬂ'& Gﬁ‘ﬁ"ﬂ:f) T IRUTH 111010 BRTT?
result? (All numbers in this question are {39 91 &l Wt deny fgamemd we
in binary number system) ggfa (@RI e Rivew) # €)

A, 111111 -1011 A, 111111-1011
B. 100101 + 10101 B. 100101+ 10101
C. 110001 + 10101 C. 110001 + 10101
D. 111101- 101 D. 111101 -101
10710804713 13 PA/AG
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65. The is a small program that 65.

controls the computer from the time it
powers on until the time the operating
system takes over.

A. CMOS B. BIOS
C. EPROM D. POST

66. What is the typical range of RAM size 665
in a standard laptop used for office
work?

A. 128 KB - 256 KB
B. 256 MB -512 MB
C. 4GB-16GB

D. 128 GB - 256 GB

67. The part of the CPU which contains 67.

circuitry that uses electrical signals to
direct the entire computer system to
carry out or execute stored program
instructions is known as:

control unit
arithmetic and logical unit
register

Cnw»

program counter

68. requires constant power 68.

flow in order to function. Because of
the continuous power it doesn't need
to be 'refreshed' to remember the data
being stored. However, it is a volatile
memory, which means that all the data
that had been stored becomes lost once

UdH UHR FH AY AT 2
ol dRER $ 99 wHy ¥ A
ST & Sad U8 ATH BIAT 8§ AR a9
Td, T d@ STxfe Reen 99 s+
iz § 9 o o |
A. CMOS B. BIOS
C. EPROM D. POST

3iffteg & &l ¥ w0 fhv o arel
wes ey ¥ RAM % bR &1 amH
IR T BT 87

A. 128KB-256 KB

B. 256 MB-512 MB

C. 4GB-16GB

D. 128 GB - 256 GB

CPU &1 ag i1 foed |fdedl &
g § &R S GuEd U B @RI
¥ a7 e &9 & forg R e
Hdhd D WART Hdl 8, 99 by 9 9
WM AT 87

A (R

. tRemife® ok diffvrea gfe

e

. URITH $1aeY

N = =

=,

TR fagye Smyfd &1 sngvadar gl
| TR fagge emyfd & wE &
PHRAT TSl & | BTelfd, T8 T HReR
HRY Bl 7, foraaT o 8§ o ua 9

the power is cutoff. fagge smyfet a1fda g9 W gEd HeilRa
HRI Sl % & el 8|
A. DRAM B. SRAM & L BT
& roaldlisnet P:abRAM C. SSDRAM D.SDRAM
PA/AG 14 10710804714



10710804715

69.

70.

A multitasking operating system means

that:

A. multiple computers can be
networked together.

B. multiple people can use a computer
concurrently

C. several programs can be operated
concurrently

D. the operating system can divide

work between several CPUs

Which of the following statements is
NOT true with regard to the Auto Filter
option in Microsoft Excel?

A. By filtering information in a
worksheet, you can find values
quickly.

B. You can set a filter on one column
of data at a time.

C. You can control not only what you
want to see, but also what you want
to exclude.

D. You can search for text and numbers

69.

70.

Aoelea T TaRfeT fRved &1 arf 38

g f&

A. T BILN B UH WY Tead fhar
T e & |

B. ®% TN Udh ®Ye} &l U WY
WINT &R HH § |

C. 980 9 WUl &1 U& 0 Hares
faram < war 21

D. digxieT Ren, faf= CPUs %
o= B BT o B o 2|

Microsoft Excel 5 3ifel fiheey faaeu
% Hay H Fferiad | | &9 |1 HYH
wEr el 2 7

A. & adsfie & yama &1 fheex
FD, 39 feod Iy & Wea wrd
Y G & |

B. 39 U §HY H ST & Ud diciH
W U fhoey e &Y Ghd & |

C. 3T < #agel 99 e o g &
T 39 4@l ared & afew 99 i
ST 39 A S A €|

D. 3 aifel fheex faweq a1 v

using the Auto Filter option. T T Al T W Hahd © |
71. The second generation of computers 71. $YSX B gHA U L Ed
were based on TR off |
A. integrated circuits A. Tdipa gRg
B. transistors B. WE®
C. VLSI chips C. VLSI f=r=q
D. vacuum tubes D. e Afcramsit
10710804715 15 PA/AG
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T3,

13,

74.

73.

Which one of the following input
technologies do banks use to process
cheques?

A. OCR

B. MICR
C. OMR
D. Pixels

In the context of computer processors,
what is the full form of ALU?

A. Arithmetic Logic Unit

B. Array Logic Unit

C. Application Layer Unit

D. Application Layer Usability

Which one of the following is NOT an
Object Oriented or Object Based
Programming Language?

A. Perl

B. Ruby

C. Python

D. C

Which of the following binary
operations would give 101011 as the
result? (all numbers in this question are
in binary number system)

A. 100010+ 11001

B. 110101 -1010

C. 101111-1100

D. 100101+ 1010

72,

F&n

74.

18;

@l H TPl B FET B F o
do fr=fafag § @ oM <0 Ffafe
TEIIE BT T HR & 7

3. 9. 3R, (OCR) @1

TH. IS, ¥ 3R, (MICR) &7
. 3l UH. 3. (OMR) @1

. oo &1

vCOow

PIER FAMG F dad H, ALU &1 9]
Woq T 8 7

A. tRedfles difid gfte

B. W difie gfe

C. USIhIA odR JFe

D. UGihee oi¥ uifdferel

fr=iforiiaa 3§ & 901 ta Wi 99 a1
YT AR ShATGR (MIOTHTT) AreT
e B ?

A. Udl

B. %€l
C. Uy
D €
fArferiad # 9§ 9 A1 Zemm didbar
qRUTH WY 101011 ST 236 0 H AT
Heed fgemynt Hen gunell H §)

100010+ 11001
110101 - 1010
101111 -1100
100101 + 1010

cawe

PA/AG
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79.

76.

77.

78.

is the number of bits
in the internal databus of a processor.
It is also the number of bits a processor
can process at a time.
A. Control Unit
B. Data Length
C. Word Length
D. AByte

What determines the number of
operations per second that a processor
can perform? It is expressed in
megahertz (MHz) or gigahertz (GHz).
A. Clock Speed B. Bandwidth

C. Frequency D. FLOPS

Which one of the following statements
about MS-DOS is true?

A. It is an open source software.

B. [Itcan multitask.

C. Ithas a Command Line Interface.
D

. It supports multiusers.

Which of the following statements

about kernels 1s INCORRECT?

A. Itis a computer program that
coordinates all executing utilities.

B. Itis a computer program that
controls all computer operations.

C. Ttis a computer program that
schedules and manages all system
processes.

D. Itis a computer program that
provides an interface between a
user and an operating system.

76.

Tl

78.

9.

—— Udh WG & AaRe e a9 H
faew & W gl 2 | I8 fdey @ 98
e A} Bl & O 9ueE U 9 |
IR Y Hehel & |

A. B g (@g gfe)

B. SeI oy

C. T8 oy

D. U® 98¢

el HaRS gRT Uit Udhs &I W G
ERT far omar & 7 g9 ATEey (MHz)
77 *frmeesl (GHz) # @b fbar i 8|
A. e ¥ B, defisy

C. smgf D. FATH (FLOPS)

MS-DOS @& ar # FA=ifelRes § & &

T FAT W B 7

A. T8 U@ Tl He (Bho )
T g

B. TE UH 9 aFdh B B T & |

C. THH UH Gy T HeRTFA®
(A eTg ZevHY) BT & |

D. I8 U ¥ 3iftie SuanTaarsl &l
H PHRar |

Friel @ aN H fEferRad § W B

FHUF TaAd & ¢

A. I8 U Y AR (URm) & &
i Fenfed susgdrRt (i)
& AT B E |

B. & Ul $9ey ey (M) § 9
it ey v @ FafEd wvar g |

C. T8 W1 Hex HART (m) & S
Y yomett ufthartt @ FuiRa six
qfRerd &var & |

D. T VT BREX FHAGE (M) & S
SUARTRAT 3R F=Tel WulTel &% ad
TUh SERIoTh S9eia i &

10710804717
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80. To create new volumes and format a | 80. 397 -3l fASa 7 ®@ey d
new disk that you just installed on a &% venfud (S%id) &1 8, I8 71U
Windows 7 computer which tool would Te (dfegH) 991 3R f&wp @ Fwiud
you use? (mife) @ & forv ey ffeaa #
9 e AmE (So) &1 T S ?

A. Disk Utility A. Tewp geferdt &1

B. Format B. wifie &

C. Disk Management C. &5 Hiorie &1

D. Disk Manager D. f3%F #oR &1

81. The first generation of computers used: 81. ueeh W1 & Hyed o Eal

SR faar Sirer o |

A. vacuum tubes A. fadra aforaell (dagy egea) @

B. transistors B. weH®Hl (giforeed) @

C. semiconductors C. 3rgdreidl &l

D. mechanical gears D. TifF® fray &

82. Which memory is NOT primarily based | 82. Fr=ifeias & & @ & @y @)

on semiconductors? I 9 U Hm =@erdl oY IR el
B 8 7

A. Main Memory A. = wf (FE)

B. Cache Memory B. gt Wi (B9 #79)

C. Secondary Memory C. fadras wia (5H)

D. Registers D. ored

83. Fiber relies on instead of 83. ST HEK % oIy Hrgear gy @i a7l
electricity to transmit data, which ————— ¥ R Brar 8, 9 afd 9=
facilitates much faster internet Tifer % 99 Sexuie S o g
connections that are capable of handling TS vl /A1 B Ol 97 defdey Hrer
higher bandwidth. H HerH B B
A. electricity A. fagg
B. light B. weprer
C. electromagnetism C. fAEm—<gsa
D. magnetism D. dadd

PA/AG 18 10710804718
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84. Which of the following cloud

infrastructure provisioned for exclusive
use by a single organisation comprising
multiple consumers (e.g., business
units). It may be owned, managed, and
operated by the organisation, a third
party, or some combination of them.

84.

frfofRag & 94 o Foes smma
YTl (FATSS gWIgaaR) H 3Hd
(SETEv— aafle sHgdl) gRI 3=
SUATT HRA B g@auE g 7 g
WS, AN UE A1 g1 @ | g
Wit ¥ wa welda ik wafea

A. Private Cloud f mi‘;‘m
B. Community Cloud B. WHE® F6llgs
C. Public Cloud C. HEsaT F=SE
D. Hybrid Cloud D. dHY T3S
85. What is common between Chrome, R5. THIH, WM 3N 3T % &g w1 GHEar
Safari and Opera? They are all: g2 Ao g ?
A. web browsers A. 99 faerR® (@9 areo)
B. searchengines B. W@l g9 (W gfora)
C. social media sites C. e AfEar fAawo — zera (Wigew)
D. web services D. d& Ham
86. ADSL provides data 86. ADSL —————— ge1 &3 # oiftm
rates in the downstream direction, from HAIEHT W ®ad W el ad Suir
the central office to the end user, than fRom & amen @da FE-we 9§ sifdy
in the upstream direction, from the end waTh aF JEPTH R § uerm wwar #)
user to the central office.
A. higher A, =X
B. lower B. f=er
C. equal C. W«
D. higher or lower (depending upon D. 9w 41 e [Hremr sk 8
provider and traffic) waRer — uRHIT (£fe) W i)
87. In web development, a is | 87. 98T H — @ 9HR FT 99 e
a web application that combines (Ciier) & i gaet foraicTs SicRTberh
multiple services to create a single new (Rvret mibwet gevow) 3 wafde vwe
service displayed in a single graphical Y T T YOT B 7 forg ag it
mnterface. @1 AT Bl |
A. Multicasting B. Moodle A. FE BT B. {=d
C. Meme D. Mashup C. # D. ¥y
10710804719 19 PA/AG
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88. The terms ‘crawling', 'indexing' and ~ 88. ‘wiferT, "ssfda aiv Wb weg fFw
'ranking' are related to: | Hafw § ?
A. phishing A. Hraers! () |
B. search engines B. @il s+ (wd gfor) |
C. browsers C. faawai (@eord) |
. internet service providers D. SE‘\’ﬁE T weraret |
89. What is the keyboard shortcut to paste 89. Microsoft word ®igel # faeudrs &1
the contents of the clipboard in a A B U o @ fore fhg e
Microsoft Word file? AiedHe & wanT fear oar 8 ?
A. Cul+ P A Cul+Par
B. Cul+V B. Ctrl +V @1
C. Cul+C C. Ctrl + C a1
D. Cul+ X D. Ctrl + X &1
90. When entered in the cells of a Microsoft 00. Wd Microsoft Excel a®¥iie & uaiai
Excel worksheet, numbers are, by (Bex) § wet gfde & it g a1 9
default, gd fraiRa Rufd (@18 Reiee) avr —
i 8|
A. leftaligned A. 918 IR W
B. centre aligned B. @3 # &g
C. right aligned C. T2 IR Wfad
D. justified D. 99 gt (fResgs)
91. In Microsoft Word, you can customise | 91. Microsoft Word # amg
or choose predefined margin settings &1 99 o qd FReifRa guid
by going to el (Fifos Afé) &1 arafer
(@¥cHgS) T G & AT IF qobd 8 |
A. Layout> Margins A. Layout > Margins
B. Insert > Margins B. Insert > Margins
C. Review >Margins C. Review >Margins
D. Draw > Margins D. Draw > Margins
PA/AG 20 10710804720
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92.

93.

94,

95.

In Microsoft
contains formatting,
positioning, and placeholder boxes for
all of the content that appears on a slide. ‘

B. Slide format
D. Slide master

A. Outline view
C. Slide layout

In MS-PowerPoint,
lets you copy all of the formatting from
one object and apply it to another one.

Format Style ‘
Format All |
Format Paste

Format Painter

onwmE

When you're using :
yvou'll always be running the most up-
to-date version of the apps that
Microsoft can offer. This unlocks
regular security updates, improvements
and more importantly, access to the
latest features and tools as soon as they ‘
become available.

A. Office 2019

B. Office 365

C. Open Office

D. Cloud Office 2019 ‘

In Microsoft PowerPoint, you want to 95.

ensure that your company logo appears
on the right-hand top corner of all the ‘

PowerPoint 2016, 92.

0,

‘ 94,

MS - PowerPoint 2016 # y
Ee W fe@g < arelt 9
IR @Y Biee afeg AfRg 8 £

A. ISeeEd & B, WSS Biie
C. WIgs olage D, Wgs AR
MS-PowerPoint ¥, 3TTRT

&1 HANT B W8
BId & O 39 |ad AIghaive §RT Wvga
& Ty |eifte sfEEH (Fscs) v
Tl & B & | 98 Fafie geen st
(3TUSew), Gl B UHe (3TcTd) Al
g IR A HE@yel WU ¥, AdEed
fafirean sk gew oW & Sues B
€ IHHT SUNTH FHardr 2 |

Office 2019

B. Office 365

C. Open Office

D. Cloud Office 2019

>

MS-PowerPoint # W%ﬁﬁﬁﬁﬂﬂm
Ared & & auat su @1 ude e
(@rm), e ved mefdwor § @

slides in a given presentation. Which 89 & HU4 g0 ®F ) | 2
of the following views would you use U e & fere auer fefaa 5
to do this? e & &1 wanT HRAT BN ?
A. Slide Sorter A. T8S Hier &1
B. Slide Master ‘ B. 188 HANEY &1
C. Notes Master C. +iIled AReR &l
D. Outline View D. 3aeeET & ol
10710804721 21 PA/AG
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96. To insert a table of contents in a

7.

98.

Microsoft Word 2016 document, you
would need to go to the

menu tab.

A. Layout B. Design

C. References D. Insert

In reference to Microsoft Excel, please
see the contents of the following cells:

‘ A
1 4
2 5

i
=

Cell A3 has the formula =A1*$AS$2,
The formula from Cell A3 is copied to
Cell B3. The value displayed in Cell B3
will be:

A. 40 B. 20

<. 30 D. 48

is an established set of rules
that determine how data is transmitted
between different devices in the same
network. Essentially, it allows
connected devices to communicate
with each other, regardless of any
differences in their internal processes,
structure or design.

A. Newwork Software

B. Network Protocol

C. Network Media

D. Network Operating System

96.

98.

Microsoft Word 2016 werd (Efegic)
¥ wmin @ daiferer ufie sy @

forg, amusr _ #=g €@ WX
21 |

A. ©RISE B. f&anga

C. YB3 D. e

Microsoft Excel & wg" #, U

frferRae weret (Ses) @ it < |
4 A 8 |
B 4 | ﬁﬂ
2 5 8

el A3 @1 93 = A1*$AS2 & mers
(Wrer) Az & g3 @1 vors (W) B3
Hidr frar wimar 8| vere (§) B3 #

wefda A= Far e ?
A. 40 B. 20
C. 30 D. 48

Pt &1 v wifta 99 @
o1 g8 MuiRa &var & & e & gard
(eak) H fafi=r susl & d§a e
&1 fra woer walRe fvar we | sffard
WY W, g8 waforg SysHen &1 3ad |
HARUT B ol B, el 81 SHAD] AND
withamal, Tve 4t aifiemed (fBars=) #
P 3w B
A. #iead Higeda
B. "ead Werdla
. Tead Wi

C
D. seas dffeT R

PA/AG
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99. A __is a collection of 99, ——v& Wifdd wWH, Y 9T,
devices connected together in one | Srafery a1 B H U AR 9IS SUDRl
physical location, such as a building, & Uh 9UE 8| I8 BICT I 981 8
office or home. It can be small or large, | Hene 8, f5T9H Ud SURITEar & A
ranging from a home network with one U T8 Holdl (BF Aeas) | oY U
user Lo an enterprise network with ST A1 [dened H suR SuarTdal
thousands of users and devices in an 3R ISR F AT IEH AT
office or school. (Fevassl #eas) & Hahdl & |
A. LAN A. LAN
B. WAN B. WAN
C. MAN C. MAN
D. Cloud D. Cloud
100. What is the full form of "TCP'? 100, “TCP' &7 gof W@y @1 & 7
A. Transmission Carrier Package A. AT SR T
B. Terminal Control Protocol B. eff=a Pl Heihicl
C. Transmission Control Protocol C. giuffeE &g Ui
D. Transport Control Protocol D. gUE Hgiet UieaTe
|
|
|
|
10710804723 23 PA/AG
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frefafae P s o= @ o9 -
1. W unsuRumar e dd s am &

Read the following instructions carefully:

1. Out of the four alternatives for each question, only one circle

for the correct answer is to be darkened completely with
Black Ball Point Pen on the OMR Answer Sheet. The
answer once marked is not hable to be changed

The candidates should ensure that the Answer Sheet is not
folded. Do not make any stray marks on the Answer Sheet. Do
not write your Roll No, anywhere else except in the specified
space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as under
no circumstances (except for discrepancy in Test Booklet)
another set will be provided

Mo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her seat.

The candidates should not leave the Examination Hall without
handing aver their Answer Sheet to the Invigilator on duty,
Cases where a candidate has not signed on the Attendance
Sheet will be deemed not to have handed over the Answer

Sheet and dealt with as an unfair means case.

per Rules and Regulations of the Commission,

10. After Examination is over, candidate has to retumn his Answer

Sheet to invigilator, Invigilater will hand over the Candidate’s

fom ot TR, 3R, TR T W Faw U@ Mo B el gl
R @I AT e U R oY | UE AR T sifd fu
T & 9% OF doE TE 9 5 2

. aftemif gl &t 1 3w v S e A e 39

W #1837 e 5 o | ufiemd s sgmniE
e wym A Puffa v & sftfas orgm A |

. e gftet vd ITR uae @ e W el

waifes fet ot ofvfRufs 1 ( Fee e ges 2 &l
H) B8 ) gu wiien g td T gaw Jue
T e |

4. The candidates will write the corect Test Booklet Series as| 4. whan ufina & i it witen ufEre e =i odamd
given in the Test Booklet in the Attendance Sheet. Tt ailds @ qufufd e o g |

5. Fach candidate must show on demand his / her Admit Card to | 5. I8 & W U Uftemdl, Fy yafes ®) HTA A
the Invigilator 74 e |

. afid T Ty Tl @1 faE amia & Wi

el e R B |

. FTE By 3T S A I e By

whemdf s e Ad @ | ol R odimd A
JuiRyfa e W gwmaR T b o o we s &
TH1 I T A6 Aerd § o U g wE @
HE] HIA S|

B. Use of Pencil/Electronic/Manual Calculator is prohibited. e / geiaciA® [ EREied Giham @ Fuhm
affa §|
9. The candidates are governed by all Rules and Regulations of | 9. T gte & ameu & g uftamd amiin & wft Frasdt
the Commission with regard to their conduct in the q—a—faﬁm—ﬂ—mmgmﬁm%wm
Examination Hall. All cases of unfair means will be dealt with as &1 g smam & Frovt od ot & semw am

10. witen & awia sl o s Fy amdivs F de

2 | aradiee gr onaedl ®1 owe e @t ananlf wfdy

copy to candidate, then only candidate is allowed to leave the et ufet g @ syt o foreds Suaia e
examination hall. Candidate is only allowed to take Candidate’s 31 9154 31 sl f ot | SRS snffufa
copy of answer sheet, reapeff Y 3 Wy @ o @ sl E |

11. Candidates are not allowed to take Test Booklet with them.| 11, wian ¥ Iuwia whardf #1 whan gffwr =u
They have to submit the Test Booklet to the Invigilator after iy w eert g ofen qies W
the exam, adtemdf st wry R A w e #
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